MATHS

BOOKS - PATHFINDER MATHS
(BENGALI ENGLISH)

3D-GEOMETRY

Question Bank

1. The point(-2, -8, 5) lies in the octant



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_UgIcO2vmTVEk

A. OXYZ

B. OX'Y'Z

C. OX'YZ

D. OXYZ'

Answer: B

o Watch Video Solution

2. The equation of zx plane is

A.y=0


https://dl.doubtnut.com/l/_UgIcO2vmTVEk
https://dl.doubtnut.com/l/_5YfGoM1xiyXt

B.z=0

C. x=0,z=0

D. x=0

Answer: A

o Watch Video Solution

3. The distance between the points (3,2,1) &

(4,-1,3) is


https://dl.doubtnut.com/l/_5YfGoM1xiyXt
https://dl.doubtnut.com/l/_wEzGOSKAtsB2

B. /10
C.1/14

D. None of these

Answer: C

o Watch Video Solution

4. The distance of (6,-5,1) from the origin is

A. /62

B. 62


https://dl.doubtnut.com/l/_wEzGOSKAtsB2
https://dl.doubtnut.com/l/_2oxnZIWYwcVI

C.12

D. None of these

Answer: A

O Watch Video Solution

5. The coordinate of the mid-point of the line

segment joining the points (4,5,3) & (-2,1,-1) is

A. (2,2,2)

B. (1,3,1)


https://dl.doubtnut.com/l/_2oxnZIWYwcVI
https://dl.doubtnut.com/l/_r0NEr9pPfhlb

C.(2,3,2)

D. None of these

Answer: B

° Watch Video Solution

6. The centroid of the triangle with vertices

(-1,1’1), (-19491)9 (-1a-2a1) IS

A. (0,0,0)

B. (1,2,1)


https://dl.doubtnut.com/l/_r0NEr9pPfhlb
https://dl.doubtnut.com/l/_IcTDLIxj0Aby

C. (-1,1,1)

D. (-1,1,1)

Answer: D

° Watch Video Solution

7. The coordinate of the projection of the

point (2,1,3) on the x-axis is

A. (0,1,3)

B. (2,1,0)


https://dl.doubtnut.com/l/_IcTDLIxj0Aby
https://dl.doubtnut.com/l/_JTIBpn5SZ7io

C.(2,0,0)

D. None of these

Answer: C

° Watch Video Solution

8. The equation of X axis is

A. x=0,y=0

B. y=0,2=0

C.z=0,x=0


https://dl.doubtnut.com/l/_JTIBpn5SZ7io
https://dl.doubtnut.com/l/_kDnsmk4jaInC

D. z=1, x=0

Answer: B

o Watch Video Solution

9. The coordinate of the projection of the

point (-3,0,6) on zx plane is

A. (-3,0,0)

B. (0,0,6)

C. (-3,0,6)


https://dl.doubtnut.com/l/_kDnsmk4jaInC
https://dl.doubtnut.com/l/_iEfSBiSKY7Vr

D. None of these

Answer: C

° Watch Video Solution

10. The ratio in which yz plane the line

segment formed by joining the points (-2,4,7)

& (3,-5,8) is

A 3:2

B.2:3


https://dl.doubtnut.com/l/_iEfSBiSKY7Vr
https://dl.doubtnut.com/l/_GTTIWnHc4OFd

C.2:1

D.3:3

Answer: B

° Watch Video Solution

11. In 3- dimensional space y? = 2% = 0 is the

equation of

A. equation of x-axis

B. equation of y-axis


https://dl.doubtnut.com/l/_GTTIWnHc4OFd
https://dl.doubtnut.com/l/_5ToRVjSyNEmL

C. equation of z-axis

D. equation of yz-axis

Answer: A

o Watch Video Solution

12. If the points O (0,0),
A(cos a, sina), B(cos B,sinf3)  are  the

vertices of a right-angled triangle, then

CRL]
2

sin



https://dl.doubtnut.com/l/_5ToRVjSyNEmL
https://dl.doubtnut.com/l/_IFAXm0JWZdRj

%| g‘ |
- —
w b

D. None of these

Answer: B

o Watch Video Solution

13.Q, R, S are the points on the line joining the

point P(a,x) and T(b,y) such that PQ=QR=RS=ST,


https://dl.doubtnut.com/l/_IFAXm0JWZdRj
https://dl.doubtnut.com/l/_vOL3ViVaFf7K

br + 3
then (5a+3b Y

g 3 ) is the midpoint

of the segment
A. PQ
B. QR
C.RS

D.ST

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vOL3ViVaFf7K

14. Find the locus of the point which is

equidistant from the points A(0,2,3) & B(2,-2,1)

° Watch Video Solution

15. Find the coordinates of the point on y-axis,
which is at a distance of 51/2 from the point

(3,2,-5)

° Watch Video Solution



https://dl.doubtnut.com/l/_m0z73SfwRaLp
https://dl.doubtnut.com/l/_Ul89E2LyzAYi

16. Find the coordinates of the point which
divides the join of the points. P (54,2) &

Q(-1,-2,4) in the ratio 2:3

o Watch Video Solution

17. Given that P (3,2,-4), Q (5/4,6) & R (9,8,-10)
are collinear. Find the ratio in which Q divides

PR

o Watch Video Solution



https://dl.doubtnut.com/l/_EMtDo6G2MZWV
https://dl.doubtnut.com/l/_Yzgnoe3CT0tv
https://dl.doubtnut.com/l/_uXdbEZc7s43E

18. Find the locus of a point P which moves in
such a way that 2PA=3PB when A (1,-2;3) &

B(2,1,4) are given points

o Watch Video Solution

19. Find the locus of a moving point whose

distance from the y-axis is always 3

° Watch Video Solution



https://dl.doubtnut.com/l/_uXdbEZc7s43E
https://dl.doubtnut.com/l/_nhW4pVMznWw7

20. Find the locus of a moving point whose
distance from the point(1,-1,2) is always equal

to the distance from x axis

o Watch Video Solution

21. Find the ratio in which the line joining the
pts (-3,4,8) and (5,6,4) is divided by the xy

plane

o Watch Video Solution



https://dl.doubtnut.com/l/_8IEmy3sdqtdH
https://dl.doubtnut.com/l/_VRynyVp8mHj0
https://dl.doubtnut.com/l/_8DmdEPLJtPUf

22. Prove that the triangle formed by joining
the three points whose co-ordinates are (1,2,3)
(2,3,1) & (3,1,2) respectively is an equilateral

triangle.

o Watch Video Solution

23. AB,C are three points on the axes of x, y
and z respectively at distance a, b,c from the
origin O, find the co-ordinate of the point

which is equidistant from A, B,Cand O

o Watch Video Solution



https://dl.doubtnut.com/l/_8DmdEPLJtPUf
https://dl.doubtnut.com/l/_D9OsqKXY3vmt

24. Find the locus of a point P such that

3PA%? = 2PB*where A(1,1,4) & B (2,1,3)

o Watch Video Solution

25. Find the possible octants where the point

(x,y,z)may lie for z-y=0

o Watch Video Solution



https://dl.doubtnut.com/l/_D9OsqKXY3vmt
https://dl.doubtnut.com/l/_WwJ2LmnPsqLH
https://dl.doubtnut.com/l/_3bPvCuRvsz6y

26. Find the octants which contain the point

(x,y,z) satisfying xy > 0

o Watch Video Solution

27. Give the interpretation of the following
equation

x=0,y=0

o Watch Video Solution



https://dl.doubtnut.com/l/_J1wKeUDtxWOd
https://dl.doubtnut.com/l/_cKQQbalNXhQD

28. Give the interpretation of the following
equation

y=0,2=0

o Watch Video Solution

29. Give the interpretation of the following
equation

X=a,z=C

o Watch Video Solution



https://dl.doubtnut.com/l/_1pyJLk7adMxS
https://dl.doubtnut.com/l/_OwEsgol6xtIL
https://dl.doubtnut.com/l/_h3nLgDXXHF8K

30. Prove that the points (1,-3,1), (0,1,2), (2,-1,3)
are the vertices of an isosceles right angled

triangle

o Watch Video Solution

31. The midpoints of the sides of a triangle are

(1,5,-1), (0,4,-2) & (2,3,4). Find its vertices

° Watch Video Solution



https://dl.doubtnut.com/l/_h3nLgDXXHF8K
https://dl.doubtnut.com/l/_bjQ5zX6fZwj9

32. If the origin is the centroid of the triangle
POR with vertices P(2a, 2,6), O(-4,3b,-10) &

R(8,14,2¢c) then find the values of a,b & ¢

o Watch Video Solution

33. Show that the points (1,1,1), (-2,4,1), (-1,5,5) &

(2,2,5) form a square.

° Watch Video Solution



https://dl.doubtnut.com/l/_2EetpttML3th
https://dl.doubtnut.com/l/_mlqtQVSBa3iI

34. Find the coordinates of the points which
divide the segment joining the points A (2,7,1),

B (8,-2,5) into three equal parts

o Watch Video Solution

35. A & B are two pts (0,2,3) and (2,-2,1)
respectively find the locus of a point P such

that it is equidistant from the given points

o Watch Video Solution



https://dl.doubtnut.com/l/_iXrqq77qSXaV
https://dl.doubtnut.com/l/_R8qWQLYzsXry
https://dl.doubtnut.com/l/_XFQFXI1ySfAo

36. ind the equation of the sphere passing
through the four points (0,0,0), (1,0,0), (0,1,0)

and (0,0,1)

o Watch Video Solution

37.Find the ratio in which the yz-plane divides
the join of the points (-2,4,7)and (3,-5,8) and
also find the co-ordinate of the point of

intersection of this line with the yz-plane

o Watch Video Solution



https://dl.doubtnut.com/l/_XFQFXI1ySfAo
https://dl.doubtnut.com/l/_EQx9IUQXmY66

38. A and B are two points (0,2,3) and (2,-2,1)
respectively. Find the locus of a point P such
that the sum of the square of its distances

from the two given points its constant, equal

to 2k>

o Watch Video Solution

39. Show that the plane ax+by+ca+d=0 divides

the line joining the points


https://dl.doubtnut.com/l/_Axg35q0cboyv
https://dl.doubtnut.com/l/_o4OFOaiJHqUn

(1,1, 21)&(22, Y2, 22) in  the ratio -

ar, + byl + cz1 + d1
ary + bys + cz9 + ds

o Watch Video Solution



https://dl.doubtnut.com/l/_o4OFOaiJHqUn

